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1

The purpose of this paper is to investigate the dual orbits correspondence of
the non-regular simple prehomogeneous representation (GL(1)2x SL(6), Az+
A1,V (20) @ V(6)) (see Proposition 2) .

2

Preliminaries. In the following, we denote by G the group GL(1)? x SL(6)
and by p the representation Az + A; of SL(6) with scalar multiplications.

We define an element u; of C® by u; = ¢(0,---,0,1,0,---,0) for 1 < i < 6.
The representation space of p is identified with

6
3
V={Z=(x1,22);21 = Z Tijk Ui AN Uj A Uug € ACS, z, =Zylul € C%}.
1<i<j<k<6 =1

Then the action p is given by

p(9)Z = (ap3(g)z1, Bgx2)

for g=(o, B;9) € G=GL(1)? x SL(6) and = (z,,12) € V, where p3(g)z;
> mik(gu) A (guy) A (gug).

1<i<j<k<6

Proposition 1. The triplet (G, p, V') has fifteen orbits p(G)z; (1 £ ¢ <
15) and the representative points Z; (1 < ¢ < 15) are given as follows:
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Representative point Codimension
(1)531=(ulf\u2/\U3+U4/\U5/\u6,U1+U4) 0
(2) To = (ug A ug A uz + ug A us A ug, u) 3
(3) &3 = (u1 A ug A uz + ug A us A ug, 0) 6
(4)flf4=(Ul/\Ug/\Ug+U1/\U4/\U5+U2/\U4/\U6,u6) 1
(5)ii5:(’I,Ll/\’U,Q/\’U/3+U1/\U4/\U5+UQ/\U4/\’U6,U1) 4
(6) T = (ug A ug A uz + up Aug Aus + ug A ug A ug, 0) 7
(7) Z7 = (ug A ug Aug + ug A ug A us, ug) 5
(8)573:(Ul/\UQ/\U3+U1/\U4/\U5,UQ) 6
(9) .’f?g:(Ul/\uz/\U3+U1/\U4/\U5,U1) 10
(10) jl(): (ul/\UQ/\U3+U1/\’LL4/\’lL5,O) 11
(11) 5711 = (ul A U2 A U3,U6) 10
(12) .T,‘12 = (u1 A (75 N u3,u1) 13
(13) .’L’13 = (u1 Nug A ’11,3,0) 16
(14) 1‘14 = (0 Ul) 20

3

In this section, we use the notations in [2]. Let A be the conormal bundle
of an orbit S in V and A* that of an orbit S* in V*. When A = A*, we
say that S and S* are the dual orbits of each other. Since G is reductive,
we have (G, p*,V*) = (G, p, V) and hence the dual space V* has also fifteen
p(G)-orbits. We identify V and V* as usual.

Proposition 2. The dual orbits correspondence of (GL(1)?x SL(6), A3+
A;) is given as follows:

Representative point dual orbit | Representative point dual orbit

z T15 Tg Zg
Zg Z12 Z1o Z7
Z3 T4 Ty Zg
Ty Z13 T12 Z3
Zs Zs Z13 T4
Tg ZIn T4 z3
Z7 T10 T15 z;
Zg Zg

Put
={(a,3; A= (ay5)) :a,€C, A€ g[(ﬁ),::ai,- = 0}.
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We set e; = u1 Aus Aug,ea = up A ug Aug,es = up A ug A us,eq =
(75} /\U2/\u6,65 = Uy /\U3/\U4,66 = Uy /\U3/\U5,67 = U1 /\u3/\u6,eg
’U,l/\’u,4/\u5,€g=U,1/\’U,4/\U6,610=u1/\u5/\’u6,611=UQ/\U3/\U4,612=
Ug A ug N\ Us, €13 = Us A U3 N\ Ug, €14 = Uz N\ Ug N\ Us, €15 = Us N\ Ug N\ Ug, €16 =
Uz/\Us/\’U,ﬁ,en=U3/\U4/\U5,618=U3/\U4/\u6,€19=’lt3/\u5/\u6 and
620=’LL4/\’U,5/\U6.

ar a2 a3 G4 Q15 Qip
G21 Q2 Q23 Q24 Q25 Qg 6
For A= | o o2 d au d dn | ¢ g(6) with $"a; = 0, we have the follow-
G41 Q42 Q43 Qg4 Qq5 Qg6 p—
as1 Qs2 (53 A4 A5 As6
. g1 Qg2 QAp3 QAp4 Qg5 Ug
ing equation:

dps(A)(e1, ez, €3, -+ ,€20) = (€1,€2,€3,+ -, €29) ( gll ]_B;m ) ’
21 D22
where
By =
( Awgs a3 G35 Gze  —Ga —Gy —Gps 0 0 0 \

a3 Aiza ags  age a0 0 —ag —ag O
ass  ass  As ase 0 ags 0 a4 0 —agg

ag3 ags ags A 0 0 as3 0 a4 Ggs

—Qyq2 azz 0 0 A134 a45 Q46 —aszs —asg 0

—as2 0 asz 0 asq A135 asg as4 0 —ase 5

—ag2 0 0 azyy ags  ags Aize 0 ass s
0 —as2 Q42 0 —as3 Q43 0 Aus  ase  —age

0 —Qae2 0 Q42 —0a63 0 a43 ags A a5

\ 0 0 —ag as2 0 —agz3 as3 —ags ass Aise )
( ay —az 0 0 ay O 0 0 0 0 \

as; 0  —az O 0 ay 0 0 0 0

% 0 0 —au 0 0 ay O 0 O

0 g —an 0 0 0 0 an O 0

321 _ 0 ag1 0 —aq1 0 0 0 0 as 0

0 0 agy —as1 O 0 0 0 0 ay |

090 0 0 an —au 0 anx 0 0

0 0 0 0 ag 0 —ayg 0 a3 O
0 0 0 0 0 a1 —as O 0 as

\0 0 0 0 0 0 0 ag —a5 ay )
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By =
( a14 a5 Q16
—ai3 0 0
0 —ai3 0
0 0 —ags
aig 0 0
0 a2 0
0 0 a9
0 0 0
0 0 0
\ 0 0 0
Byy =
{ Ay ags Q46
ass Azs  ase
ae64 ags  Aase
—as3 43 0
—ae3 0 43
0 —ae as3
as2  —Q42 0
Q62 0 —042
0 ag2 —052

\ o 0 o0
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and Ay =a; +a;+a;, 1 <i<j<k<6.

65:1 = {(07 az + as;

—Qaz — a3z a2

0 0 0 0 0 0 0 \
ais 16 0 0 0 0 0
—ai4 0 A1 0 0 0 0
0 —Qa14 —Aa15 0 0 0 0
0 0 0 ais aie 0 0
0 0 0 —ai4 0 Q16 0 ’
0 0 0 0 —a14 —Aais 0
a2 0 0 ais 0 0 a16
0 ai192 0 0 a3 0 —ais
0 0 a12 0 0 ajs3 14
—a3zs —aze 0 az Qg 0 0 \
a34 0 —ax —au O aze 0
0 azs  ass 0 —ay —aps O
Ays  ase  —age Q23 0 0 age
ags Axue g5 0 as3 0 —ass
—ags G54 Aase 0 0 Q23 24
aszg 0 0 Az ase —as 036
0 a3z 0 ags Az 45 —A35
0 0 asz —Ges Gss Asse 34
a2 —Qs52 Q42 Qg3 —Aas53 (43 Agse /
(1) The case of Z; = (u1 A ug A ug + us A s A Ug, Uy + Ug).
ais 0 0 0
ag 423 0 0 0
azg ag 0 0 0
0 0 —azx—a3 ags Q46 ) € 6}‘
0 0 0 as ase
0 0 0 ags QAo +as —as

OO O OO

5 =1(0,0) }. 4o =

(0,0) € p*(G)1s.
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(2) The case of o = (u3 A ug A ug + ug A us A ug, uy)-

—az—az a;z a3 0 O 0
0 Qg QA93 0 0 0
~ 0 azz a3 0 O 0
652 = {A = (0,a2+a3; 0 82 03 ay  aus o ) € 6}
0 0 0 az4 Qs Q56
0 0 0 Qgs Qg —a4 — Qg

Vz, = C(v1,v,v3 ), where v; = (ugAugAug, —uq), v = (U2 AugAus, —us)
and vs = (ug A ug A ug, —ug)-

- Ay —asy —aeg
dpsz,(A)(v1, va, v3) = (v1,v2,v3) | —ass Az —aes
—ag4 —asg Az

Y

where A} = —ay — a3 — a4, A3 = —as — a3z —as and A3 = —ay — a3 + a4 + as.
In this case, we have (Ga,, ps,, V) = (GL(3), A1, V(3)).
g() =V € p*(G)j‘lg .

(3) The case of 3 = (u1 A ug A ug + ug A us A ug, 0).

ai G2 a13 0 O 0
a1 Qs a3 0 O 0
Gz = A= A= az azx —ap—ay 0 0 0
3 { (O’ /6? O 0 0 a4 a45 (],46 ) 6 6}
0 0 0 G54 Qs Q56
0 0 0 Qg5 Qg5 —Q4 — A5

V;B = C(’U],’UQ,’U;},U4,’U5,'I)6>, where V1 = (O,U1), Vg = (O,Uz), V3 = (O,U3),

Vg = (O,Ué), Vs = (0, U5) and Ve = (O,UG).
dpz;(A)(0,y) = (0, — Ay — By) for (0,y) € V7.
Yo=1U1 + Vg = (0, e; + 64) € p*(G).’fim.

(4) The case of T4 = (u1 A ug A ug + uy Aug A us + ug A ug A ug, ug).

Gz, = {1‘i = (al + a3 + as, —3a; — 2a3 — 2as;

ay a2 a3 aiu ap O

0 a3 azs azq agz 0 - _9 9

0 0 as 0 ass 0 G2 = =201 — 243 — ds,
)EB: ay=—2a; — a3z — 2as, }.

0 —aszs as a1 ags O

0 0 a4 0 as 0 ag — 3(11 + 2a3 + 2(15

0 0 a4 0 —Qa12 Qag
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& = C(vy), where v; = (ug A us A us, 0).

dp;i4(x‘i)(1}1) = —4((11 + a3 + (15)'1)1.
Yo = v1 = (uz A us A ug,0) € p*(G)Z13 and g1 = (0,0) € p*(G)Z1s.

(5) The case of Ts = (uy A ug A ug + us A ug A us + us A ug A ug, ug).

B; = {fl = (a1 + a3 + as, —a;

a; a2 a3 a4 Q15 Q16
0 a az3 G4 G5 Qg
0 0 as 0 ass 0 ) €G-
0 —a3s axs—ae ay g5 a6
0 0 —a24 0 as 0
0 0 Q14 0 —a12 Q¢
Qa9 — —2(1,1 — 20,3 — Q5,04 = —2(11 — ag — 2a5,a6 = 3a1 + 2(13 + 2(15 }

‘/55 = C(’Ul,’l)z,’Ug,’U4>, where v = (U1 Nug N\ us —us A\ ug A\ ug — Uy AN
Uus N\ U6,2U6), Vo = (U2 N us A Us, —’LL5), V3 = (’lL3 N ug N\ us, —U3) and (e
(us A us A ug, 0).

Ay 0 0 0

A —2a A —a 0
dpis(A)(vla Uz, Us, U4) = (’Ul, Vg, U3, 1)4) 2a112 a; A;5 0 :

—2a16 —a 46 As
where A1 = —2((1,1 + a3 + a5), AQ = a; — 0as, A3 =qa; — as and A4 = —4((11 +
as + as).
3]0 =1 € p*(G).’if5 and 371 =1y € p*(G).ilg.
(6) The case Of.’flﬁ = (’Uq ANug Aug + up ANug A us + ug /\u4/\u6,0).

Gz, = {A = (a1 + a3 + as, B;

a; Qa2 a13 alg Q15 Qa16
a1 G2 a23 24 A2s Q26
0 0 as 0 ass aseg ) c & :
dgze —a3s Q25 —A16 G4 Q45 Q46
0 0 —ag4 0 as —as1
0 0 a14 0 —ai12 ag
ay = —2a; — 2a3 — a5, a4 = —2a; — a3 — 2as,as = 3a; + 2a3 + 2a5 }.

V;e = C(Ul,’l)g,v3,’l)4,’05,’l)6,’v7), where V1 = (U3/\U5 /\'LLG,O), Vg = (O,Ul),
V3 = (O,Uz), Vg = (O,U3), Vs = (0, U4), Vg — (0, U5) and V7 = (0,u6).
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dpie (A) (w19u3 Nus A usg, y) = (—4(a1 + a3+ CL5).'L'19U3 Aus Aug, — tAy — ﬂy)
for (z19us A us A us,y) € V..
go =1 + Vg = (U3 A Us A us,ul) € p*(G).’iu &Ild :l:ll =1 € p*(G)im

(7) The case of T7 = (ug A ug A ug + ug A ug A us, ug).

&z, = {A = (o, —ag;

ap ajp a3 aix ais O
0 [¢5) Qo3 Aoyq4 Q2 0
> az = —a; —az — &,
0 a3, a3 az asps O )
)66. as = —a; — a4 — Q, }
0 —ass axp as ags O B
ag = a; + 2«
0 a4 —agp ass as O
0 0 0 0 0 ag

V:i.'; = C(Ul,UQ,U3,1)4,U5>, Where v = (U2 AN Us A U — Uy A Us A UG,O),
va = (ug A ug A ug,0), v3 = (ug A us A ug,0), vg = (uz A ug A ug,0) and
vs = (u3 A us A ug, 0).

dpi7(A)('U1a Vg, U3, Vg4, ’Us)

—2a —az ay —az a3
—2a34 Ay —asy —azx O
= (v1,V2,V3,v4,05) | —2a35 —ag5 As 0 —azp |,
2a94 —az 0 Ay —asy
2az5 0 —ayp —ap As
where Ay = —a; —as —ag — 30, A3 = —ag + a4 — 2c, Ay = ay — ag — 20 and

As=a;+ay+ a4 — a.
Yo = v1 € p*(G)Z1o and §1 = vy € p*(G)Z13.

(8) The case of Tg = (u3 A ug A uz + uj A ug A us, us).

&, = (A= (0,0

ap 0 a3 au a5 ag

0 a2 a; a2 azx ag a3 = —ay — ay — a,

g 8 @3 0 0 36 )662 as = —a; — a4 — &, }
Qg5 QA4 Q45 Q46 _

0 0 —ay asqy as ase a6 = a1 +2a

0 O 0 0 0 ag

Vi = C(v1,v2,vs,v4, 05,06 ), Wwhere vy = (ur A ug A ug, ug), va = (ug A
U3 A U — U4 AN Us AN UG,O), V3 = (UQ A Uy A\ UG,O), Vg = (UQ A\ Us A US,O),
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Vs = (U3 A ug N\ UG,O) and Vg = (U3 Aus A Us,O).

dpfcg (A)('U], V2, U3, U4, Us, IUG)

A 0 0 0 0 0
0 —2a —Q95 Qo4 0 0
_(’U’U’U’U’U’U) 0 0 A3 —Aas4 0 0
- 1, V2, U3, U4, Us, Ug 0 0 —ays A4 0 0 )
a4 2034 —azz3 0 A5 —asy
ais 205 0 —ag3 —ags  As
where A; = —a; + a3 — 20, A3 = —a; —as —ag — 3a, Ay = —ay + a4 — 2a,
As=ay—ags— 2 and Ag =a; +ay +a4 —a.
Yo = v1 + vy € p*(G)Zg and 1 = vz + v € p*(G)Z10.
(9) The case of Zg = (u; A ua A ug + ug A ug A us, uy).
6:59 = {A = (Of, —ay;
a; a2 a3 a4 G15 Qaie
8 52 6223 224 225 326 43 = —ay — ay — .
0 _22 a3 a34 a35 a,36 )EB: a5 = —a1 —as—a, ).
35 Q25 4 Q45 O46 a6 = a1 + 2
0 a3z —axq asq as ase
0 0 0 0 0 oa¢
V_,g; = C( V1, V2,V3,° - , V10 ), where vy = (u2/\u3/\u4, —U4), Vg = (’UQ/\U3/\

us, —Us), v3 = (upAusAug, —ug), Vo = (UaAugAus, —Uz), vs = (ugAugAug,0),
ve = (ug A us A ug,0), v7 = (uz A ug A\ us,—ug), vs = (ug A ug A us,0),
Vg = (’ng N ug A\ Ug, 0) and V1o = (U4 Nus A\ Ug, —UG).

dpze(A)(v1, va,v3,- -+ ,v10) = (v1, V2,03, -+ ,v10) B,

( A 1 —Aax4 0 —a24 0 0 —AQas4 0 0 0 \
—Aa45 A2 0 —Aa9s5 0 0 —Aagss 0 0 0
—a4 —ase As 0 —ax axy 0 —azs a3 0

agzs —AQa34 0 A4 0 0 —Aasge 0 0 0
p—| 9 0 —ay —ass As —asg 0 —azz 0 ax
B 0 ase —a3s Q46 —045 Ag 0 0 —azp azx |’
—ags Q94 0 —ao3 0 0 A7 0 0 0
—ag 0 N 0 —as 0 —as¢ As —asq4 —aog
0 —az as 0 0 —a3 ag —ags A9 —ass
\ 0 0 0 —a ax —ax —azx as —az A )
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where Al = ay —a4,A2 = Qi —(15,143 = Qi —aﬁ,A4 = —az,A5 = —a; —
az—a4——3a,A6 = ——a2+a4—2a,A7 =2a1+a2+a,A8 =a2—a4—2a,A9 =
a1 + as + a4 — o and Ajg = —20.

?jo =1+ Vg € p*(G)i’g
(10) The case of T19 = (uy A ug A ug + uy A ug A us, 0).

Gz = {A = (a,ﬂ;

a; a2 13 @14 Q15 Q16
0 Q2 Q23 Q24 Q25 Q26
0 az = —a; — agy — &,
A= a3z az az4 G35 Qage
= 0 )€®:a5=—a1—a4—a,}.
—ags Qg5 Ay Q45 Q46
ag = a1 + 2a
0 34 —QA24 454 G5 056
0 0 0 0 0 oag
* —_
F10 C( V1, V2,V3,° " , V11 ), where V) = (UQ/\U3/\U6—U4/\U5/\’U,6, O), Vg =

(U2AU4/\UG,O), V3 = (Uz/\U5/\u6,0), (e (U3/\U4/\’U,6,0), Vs = (U3/\U5/\U6,0),
ve = (0,u1), v7 = (0,u), vg = (0,u3), v9 = (0,us), vio = (0,u5) and
V11 = (0, ’11,6).

- B
dpz,, (A)(v1,v2,v3, - -+ ,v11) = (V1, V9,03, ,v11) ( 0 — tAO_ Bl ) ,

—2a —agyp ay —asz Az
—2a34 Ay —as4 —azx; O
B=| —2a3 —a4s As 0 —azp |,
2a24 —azz 0 Ay —as
2a5 0 —axp —ags As
where A2 = —Q; — Qg2 — Q4 —30(,Ag = —a2 + a4 -—2&,./44 = Qa9 — Q4 — 2 and

A5 =a;+az+ a4 — Q.
Jo = v1 +ve € p*(G)Z7 and §1 = vz + vs € p*(G)Z11.

(11) The case of Z11 = (u1 A ua A uz, ug).

Qsiu = {A = (_al — Qg2 — ag, ag;
a1 Gi2 G13 QA4 Qs
Gz1 G2 Q23 Q24 QA2s
as1 asz as asqs Aass
0 0 0 a4 QAgs
0 0 0 asq4 Qs
0 0 0 Qg4 Qg5 Qg

)€®:a6=—§:ai}.

OO O OO
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x _ —
11 C(’Ul,’Uz,’Ug,' . ,U10>, where V) = (Ul/\U4/\U5,0), Vg = (ul Aug N\

ug,0), v3 = (ur A us A ug,0), v4 = (U2 A ug A us,0), vs = (uz A ug A ug, 0),
Vg = (U2 N us /\U6,0), V7 = (U3 N Uy /\U5,0), Vg = (U3 N Uy /\UG,O), Vg =
(U3 /\’LL5 A u6,0) and Vo = (U4 N Us A UG,O).

dpz,, (A)(v1, v, 3, -+ ,v10) = (1,02, 03, ,V10) B,
( A1 —Qag5 ae4 —a9 0 0 —Aagy 0 0 0 \

0 Ag —Aas4 0 —Qa921 0 0 —agy 0 0

0 — Q45 A3 0 0 —Qa91 0 0 —Aasy 0

—a12 0 0 A4 —ags Qg4 —Aagz2 0 0 0

B— 0 —aj2 0 0 A5 —Qas54 0 —Aas2 0 0

- 0 0 —Qa12 0 —Aays Ae 0 0 —Aags 0 ’

—a13 0 0 —Qa23 0 0 A7 —Aaegs Qg4 0

0 —ai3 0 0 —a9g3 0 0 Ag —as4 0

0 0 —ais 0 0 —a93 0 — Q45 Ag 0

\ 0 a;s —ayy 0 azps —az 0O azs —asg A1o)

where Al = a2+a3—a4—a5,A2 = a1+2a2+2a3+a5,A3 = a1+2a2+2a3+
a4, Ay = a1+az—ay—as, As = 2a;1+as+2a3+as, Ag = 2a1+as+2a3+ay, A; =
aL+ a2 — a4 —a5,A8 = 2&1 +2a2 + as +(15,A9 = 20,1 +2&2 + a3z + a4 and
AlO = 2&1 + 2&2 + 2&3.

Yo =1 + Vs + V9 € p*(G)fZﬁ.

(12) The case of T12 = (u1 A ug A ug, uq).

a; a2 a3z Gi4 Q15 A6

0 ax a3 a azs ag

0 az2 a3z as aszs ags e

0 0 0 Qs Qg5 Qug ) €GB ag = —;(ZZ}

0 0 0 as4 Qa5 0As6

0 0 0 ags Qg5 0g
o, = C(v1,v2,v3, -+ ,v13), where v; = (uy Aug Aus,0), vg = (ug Aug A
UG,O), Vg = ('Uq/\U5 /\UG,O), Vg = (UQ/\U3/\U4, —’U,4), Vs = (’U,2 /\U3/\U5, —’LL5),
Vg — (’U,g N ug N\ ug, —UG), vr = (’LLQ A ug A U5,0), Vg = (’UQ N ug A ’U,G,O),
vg = (ug Aus A us,0), vip = (uz A ug A us,0), vi1 = (us A ug A us,0), vi2 =
(U3 A us N\ ug, 0) and Vi3 = (’U,4 N us N ug, O)

dpz,; (A)(v1, v, v3, - -+, v13) = (v1, V2,03, -+, v13) B,
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B =
Al —aegs Qg4 0 0 0 —a91 0 0 —as1 0 0 0 \
—ase AQ —Qas4q 0 0 0 0 —a91 0 0 —aszy 0 0
a46 —a45 Ag 0 0 0 0 0 —Qa21 0 0 —asy 0
0 0 0 A4 —as4 —Qe4 0 0 0 0 0 0 0
0 0 0 —ays5 A 5 —Aags 0 0 0 0 0 0 0
0 0 0 —Q46 —Aas56 Aﬁ 0 0 0 0 0 0 0
—aiz 0 0 a3z —az O A7 —ags ags —azx 0 0 (U
0 —a19 0 Qase 0 —Qa3q4 —As6 Ag —as4 0 —Aasz2 0 0
0 0 —Qai2 0 aze —Aass a46 —Q45 Ag 0 0 —as2 0
—a;3 0 0 —ax ay 0 —ax O 0 A —ags aes O
0 —ai3 0 —ax 0 ay 0 —ayy 0 -—ass An —ass O
0 0 —aiz 0 —ay ax O 0 —ax aw —ais A 0
—ag a5 —an 0 0 0 —ax axs —au —azx a3z —azu A )

where Ay = ay + a3 —aq4 — a5, Ay = a; + 2a; + 2a3 + as, Az = a1 + 2ay + 2a3 +

ag, Ay = ay —ay, As = a1 — a5, Ag = a — ag, A7 = a1 + a3 — as — a5, Ag =

2a1+a2+2a3+a5,A9=2a1+a2+2a3+a4,A10:a1+a2—a4—a5,A11 =

2a;1 + 2a3 + a3 + a5, A1z = 2a1 + 2a3 + a3 + a4 and A3 = 2a; + 2a2 + 2as3.
go =v3+ U4 € p*(G)Iig

(13) The case of Z13 = (u; A ug A uz,0).

6:213 = {A = (-al — a2 — 0'31/8;

a1 G2 @13 Q14 Aa15 Qie

a1 QG2 Q23 Q24 Q25 Qg6

azy Aagz az azq4 0ags 0asze 5
A= ) €& :as=—Ya;}.

0 0 0 Qg4 Q45 Q46 =1

0 0 0 asqg Qs Qs

0 0 0 Qg4 Qg5 QAg

X
F13 — C(’Ul,’Uz,U3, s ,’U16>, where v = (u1 /\U4/\U5,0), Vg = (Ul /\U4/\

ug,0), v3 = (u1 Aus Aug, 0), vy = (uz Aug Aus, 0), vs = (ux Aug Aug, 0), vg =
(’UQ/\U{,/\’U,G, O), vy = (’U,3/\’U,4/\U5, 0), Vg = ('LL3/\U4/\’LL6, 0), Vg = (Ug/\’d5/\’u6,0
v = (ug Aus A, 0), v11 = (0,u1), viz = (0, u2), viz = (0,us), vig = (0,uy
Vi = (O,U,5) and Vi = (O,UG).

)7
),

. B 0
dpz,5(A)(v1, V2,03, -+, v16) = (V1, V2,03, , V1) ( 0 —'A-pI ) ’
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A1 —Aags Qg4 —a91 0 0 —asz1 0 0 0 \
—Aase Ag —Aasz4 0 —a91 0 0 —asy 0 0
Q46 —ay4s A3 0 0 —an 0 0 —Aasy 0
—a12 0 0 A4 —dags Qg —Aag2 0 0 0
B = 0 —a12 0 —asg A5 —as4 0 —Aass 0 0
0 0 —ai2 Q46 —Aagy A6 0 0 —as2 0 ’
—Qai3 0 0 —Q93 0 0 A7 —Aags Qg4 0
0 —ai3 0 0 —a93 0 —ase6 Ag —as4 0
0 0 —ais 0 0 —a93 Q46 —Aags Ag 0
\ —a16 Q15 —G14 —0g G5 —Q4 —age G35 —a3s Ay )

where A; = ay + a3 — ag — a5, Ay = a1 + 2as + 2a3 + a5, A3 = a1 + 2a9 +
2a3 + a4, Ay = a1 + a3 — a4 — as, As = 2a; + as + 2a3 + a5, Ag = 2a; + as +
2a3 + a4, A7 = a3 — ag, Az = 2a; + 2a3 + a3 + as, Ag = 2a; + 2a2 + az + a4
and Ay = 2a; + 2a; + 2a3.

Yo =1 +vU5+v9+ U1 Ep*(G):Ez;.

(14) The case of 14 = (0,u1).

&z, = {A = (a,—as;
a; a2 13 A14 @15 QA1

Az Q23 Q24 QA25 Qa2

az2 a3 Qa34 Aazs A3 )EB:ag= _iai}.

Q42 Q43 Qg4 Q45 Q46 =1

as2 (53 G54 QA5 (56

G2 (63 Ges Q65 Ug

—

(=R en Bl e e Bl an)

Vz, = C(vy,vp,v3,- -+ , v ) where v; = (;,0),1 <3 < 20.

dpim(;l)(vl’ Vg, - ’020) - (Uh V2, ", U20) (_ tdp3(A) - aI2O)'
o = v1 + V1o + Voo € p*(G)Zs.

(15) The case of Z;5 = (0,0).
In this case, we have (G, Pz, Va'.) = (G, p, V). Jo =21, §1 = Z2.

Z15

References

[1] Gyoja, A. (1994) , Highest weight modules and b-functions of semi-
invariants, Publ. RIMS Kyoto Univ. 30, 353-400.

— 252 —



On the correspondence of dual orbits related to some representation, 11

[2] Kasai, S. (2014), On the correspondence of dual orbits related to some
representation, I, Bulletin of the faculty of education Yamaguchi Uni-
versity Vol. LXIII, PT.2, 235-239.

[3] Sato, M., Kashiwara, M., Kimura, T. and Oshima, T. (1980), Micro-
local analysis of prehomogeneous vector spaces, Inv. Math. 62, 117-179.

— 2563 —



